
a}=kmf=174

bfloTj ?= ;DklQ ?=

1= a}lsé clkm;df gf]^ df}Hbft 10,314,517,683   1= ljb]zL d"b|f / ;]So"l/^L 473,370,007,000

2= rng rNtLdf /x]sf] gf]^ 463,055,489,317

hDdf lgisflzt gf]^ 473,370,007,000

hDdf bfloTj 473,370,007,000   hDdf ;DklQ 473,370,007,000

OSjL^L tyf bfloTj ?= ;DklQ ?=
1 d"nwg 5,000,000,000   1  gf]^ 10,314,517,683
2 ;fwf/)f hu]*f sf]if 25,974,792,905   2  /]RsL -
3 df}lb|s bfloTj sf]if 5,086,563,008   3  ljb]zL d"b|f 28,803,511,505
4 ljsf; sf]ifx? 23,361,352,745   4  ljb]zL a}+s df}Hbft 52,654,243,425
5 #=;f=p= ljsf; sf]if -   5  P;=*L=cf/= ;+lrtL 1,019,567,177
6 ;^xL ;lds/)f sf]if 58,821,697,898   6  ljb]zL a)* 134,783,123,865
7 ;"grf¤bL ;lds/)f sf]if 6,312,087,397   7  vl/b / l*:sfp)^ u/]sf] ljn
8 ;]So"l/^L k"g/d"Nof+sg sf]if 289,378      -s_ :jb]zL 10,250,225
9 lgIf]k      -v_ ljb]zL 51,765
   -s_ g]kfn ;/sf/ 272,380,075,937   8  nufgL
   -v_ afl)fHo a}°x? 161,278,222,646      s= ljb]zL ;]So"l/^L 272,129,963,209
   -u_ ljz]if lgIf]k -      v= g]kfn ;/sf/sf] ;]So"l/^L 98,880,446,927
   -#_ cGo 34,701,049,329      u= ljQLo / ;+:yfgx?sf] ;]So"l/^L 2,795,703,460
10 e"QmfgL lbg"kg]{ lan 114,986,604      #= l/kf] ljb]zL -
11 g]=/f=a}= C)fkq lx;fa -      ª= cGo ;+:yfgx?sf] ;]So"l/^L 31,000,000
12 l/e;{l/kf] ;]So"l/^L jfktsf] bfloTj -   9  shf{ / ;fk^
13 P;=*L=cf/= af¤*kmf¤* 10,133,152,232      s= g]kfn ;/sf/nfO{ -
14 cGo bfloTj 62,161,023,910      v= jfl)fHo a}+sx?nfO{ 17,974,226,475

     u= ljQLo ;+:yfx?nfO{ 1,065,331,538
     #= :yfoL t/ntf ;"lawf -
     ª= cGo shf{ / ;fk^ 3,910,027,408
  10 ;"g df}Hbft 1,859,748,125
  11= cGo ;DklQ 39,093,581,204

hDdf OSjL^L tyf bfloTj 665,325,293,991   hDdf ;DklQ 665,325,293,991
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